
�� � � �� � �� � �	 �
 � � � �

�� � 
� �� � � 
� 
�

��� ��� � �� � � !"# $% "# &(' $ !)* + ,.- $ �0/ 1 2* ! $

3 4 4 5 : 6 67 7 7 89: ; 8 5=< 9 > 4? @ 3A : B=C ? 8DE 6 ∼ F @ 3 G? D D ?

H 2I $J +* K 2 1' "* L" +* ' M " 1N I M +' ) % O� ) 2I I 2 +* P 2* J Q O Q 2 1 !- I O

R



�� �� �� � � �� �� 	
 � 	� �


� �� � ��� �� � �� �� � � �� �

� 1 2 K ) I � I - 1� 2 ! $I 2* J � 2 K I

�� � �  � �� � � ! " � �� � � � � "$#

% - ' ' $ � " 1 � - # 2I 2* J 2& + L $ !' +"*

' �� � � � � � " # � � #  � ! � �� #

( J +I ! 1 $' $ � " J $# " � 1 2* J " � P $ " � $' 1 + $I

) � *� � � *� �  # � � "$#

% ) $ I ! ) $ � $ " � 2 � 2 K

+



� �� � �� � � � � �� �� � � �� �

� 1 2 K ) I � I - 1� 2 ! $I 2* J � 2 K I

�



� � ��� � � � � � � � � � �� �� $	 * +' +"*


� 
 � +I 2* $ �& $J J +* P " � 2 P 1 2 K ) +* 2 I - 1� 2 ! $ M +' ) I + � K# &

!"* * $ !' $J � 2 ! $I � !"* I +J $ 1 $J - K ' " ) " � $ " � " 1 K ) +I � I " � ' ) $ I - 1 � 2 ! $ O

� " " ' $J � 2 K�
 "* $ $J P $ +I J +I ' +* P- +I ) $J 2* J " 1 + $* ' $J O

/ " 1 ' ) $ I K ) $ 1 $ � M $ � 2 N $ K# 2* 2 1 K + !' - 1 $I �

' 2 N +* P ' ) $ +* 	 * +' $ � 2 ! $ "* ' ) $ 1 + P ) ' ) 2* J

I +J $ " � ' ) $ 1" " ' O

�



� � ��� � � � � � � � � � �� � Q 2 K I � I P 1 2 K ) I

� +I ' +* !' � 2 K I � 2 & I ) 2 1 $ ' ) $ I 2 � $ - * J $ 1# & +* P P 1 2 K ) O

� 
 � � ��� 
 ��� + � � �	
 �� � �
 � � � 
 � �
 � 
� � �� � �
 � �
 �
 ��

� � K "* # 2& $# # +* P 1
2

� $ J P $I � 2 � 2 K ! 2* & $ ! " J $J & & ' ) $I $ ! & !# + ! " 1J $ 1I O

� % ) $* - �& $ 1 " � � 2 K I M +' ) n $J P $I +I 	 * +' $

�* # +N $ P 1 2 K ) I � 1" " ' $J � 2 K I 2 1 $ ' 1 + � + 2# ' " ' $I ' � " 1 +I " � " 1 K ) +I � I �

"* $ ! 2* J $ ! +J $ +� M1 = M2 +* # +* $ 2 1 ' + � $ +* ' ) $ I +� $ O

�



� �� � � � � � � �� � Q 2 K I 2I J +I ! 1 $' $ I - 1� 2 ! $I

�� 1 $ P- # 2 1 �" 1 !- & + ! � � 2 K I �� 1 $ P- # 2 1 � 2 K I

% 1 + 2* P- # 2' +"* I � - 2 J 1 2* P- # 2' +"* I

�



�� � �  � �� � � ! "� �� � � � � "$#

% - ' ' $ � " 1 � - # 2 I 2* J 2 & + L $ !' +"*

�



�� � � �� � 	 � �� �

� � ) 2' +I ' ) $* - �& $ 1 " � 1" " ' $J K# 2* 2 1 � 2 K I M +' ) n $J P $I �

� ��� ��� ��� � � �	
 � O O O

� � ) 2' +I ' ) $* - �& $ 1 " � 1" " ' $J ' 1 + 2* P- # 2' +"* I M +' ) n' 1 + 2* P# $I �

� � � � � � ��� 
 � �� � � O O O

��
� ��� �� �� �� �� �� ��� 
 � �� ����  � !� � �� " � �� �� #� �$ �$ � % �
 � & � " �� �$ � ��� '(

% ) $ I � 2# # $I ' � 2 K I � R0 = { } � R1 =
{ }

R3 =
{ }

)



� � �� � �� � � �� � � � � � � 	� �

1
7

13
14

89

10

5
6

3

4

11

2

1

12
15 16

fake

Rn � 1" " ' $J � Ln �# 2& $# # $ J � Mn � - * 1" " ' $J O

� ( �� � �� � � 2 K M +' ) n $ J P $I ) 2I (2n− 1)!J +I ' +* !' 1
2

� $J P $# 2& $# # +* P I

⇒ 1" " ' $J ≡# 2& $# # $J

� ( � 2 K M M +' ) n $J P $I ) 2I 2n
Aut(M) K " I I +& # $ 1" " ' I

⇒ 1" " ' $J ≈- * 1" " ' $ J

� * " ' ) $ 1 ' $ 1 � I �

|Rn| = 1
(2n−1)! |Ln| =

∑

M∈Mn

2n
Aut(M)

�



�� � � �� � 	 � �� �� - 1 K 1 +* I +* P $� 2 !' 1 $I - # ' I +* ' ) $ K# 2* 2 1 ! 2I $

� � 
 � � 
 � � % - ' ' $��� � �
#{ K# 2* 2 1 � 2 K I � n $J P $I } =

2 · 3n(2n)!

(n + 2)!n!
∼ c2

n5/2
12n

#{' 1 + 2* P- # 2' +"* I � 2n� 2 ! $I } =
2n+1(3n)!

(2n + 2)!n!
∼ c1

n5/2
(27/2)

n

2* J 2 � $ M " ' ) $ 1* + ! $ � " 1 � - # 2I � " 1 " ' ) $ 1 � 2 � +# + $I O

� 2& " - ' ' M $* ' & � 2 � +# + $I " � � 2 K I ) 2 � $ 2# P $& 1 2 + ! P $* $ 1 2' +* P � - * !' +"* I O

→ � ��� �	 
� � �
� � �� 
� � � �� � �� � � � ���� � �� �� � ��  ! !�

→ "$# 
� � � � 
 
� % 
	 � �� &(' � � 
� � � �� )* � � + �,- * � .  /0 �

1 
 � 
�2 � % # 2* 2 1 P 1 2 K ) I 2 1 $ � - !) ) 2 1J $ 1 ' " !" - * ' � ' ) $ + 1 2I & � K ' " ' + !

* - �& $ 1 M 2I "* # & � " - * J ' ) +I & $ 2 1 � � " &43 � + � $* $ � � 5� � O

R 6



� �� � � � � � � � � � � � � �� 	 � �� � � % - ' ' $ � I � " 1 � - # 2

� � 
 � � 
 � � % - ' ' $� � � O % ) $* - �& $ 1 " � 1" " ' $J ,.- 2 J 1 2* P- # 2' +"* I

M +' ) n� 2 ! $I +I

|Qn| =
2

n + 2

3n

n + 1

(

2n

n

)

.

�� 
 � ��  � �� � � % �$ � �
 �$ �� &
 � �� �� � �� � � " �� � � � �� �� (

� �� � �� �
	 ��� ��
 � �� 	 �
 � � �  �� � �$ � �
 �$ �� � � 
 � � � �� �� � � � �� �� �� � % ' � � � � � � � �� �� � " �(

R R



� �� � � � � � � � � � � � � �� 	 � �� � � % - ' ' $ � I � " 1 � - # 2

1 
 �� � � � 	 
 �
 � � O % ) $* - �& $ 1 " � 1" " ' $J ��� �� �� � ,.- 2 J 1 2* P- # 2' +"* I

M +' ) n� 2 ! $I +I

|Q•
n| = (n + 2)|Qn| = 2

3n

n + 1

(

2n

n

)

.

�� �� � �� � $ � � & &
 �� � &� � % 	 � � � " �� � 
 '� � � � 1
n+1

`

2n
n

´( (

R +



� � � � � � � � 	� � �� �

( �� � �� � ��� �� � � � � � +I 2 1" " ' $J K# 2* 2 1 � 2 K M +' ) "* $ � 2 ! $ O

% ) $* - �& $ 1 " � 1" " ' $J K# 2* $ ' 1 $ $I

M +' ) n $J P $I +I

1

n + 1

(

2n

n

)

� $ � +I I 2 � 2 !' " 1 3n O

R �



� � � � � � � � 	� � �� � � * ' $ 1 K 1 $' +* P 3n

n+1

(

2n
n

) O

(* 
 � �
 � �
 � �� 
 
 +I � 2 J $ " � 2 1" " ' $J K# 2* $ ' 1 $ $ M +' ) � $ 1' + ! $I

$ �& $J J $J +* Z O

Q " 1 $ K 1 $ ! +I $# & � $ 2 !) $J P $ +I � 2 K K $ J +* J $ K $* J 2* '# & +* ' " {−1, 0, +1} O

% ) $* - �& $ 1 " � $ �& $J J $J ' 1 $ $I

M +' ) n $J P $I +I

3n

n + 1

(

2n

n

)

20 1−2 −10

1

1

−1

−20

0 1

2

1

� $ I ) 2# # $� ) +& +' 2 J + 1 $ !' "* $� ' " � "* $ !" 1 1 $I K "* J $* ! $& $' M $ $*

� 1" " ' $J ��� �� � � � ,.- 2 J 1 2* P- # 2' +"* I M +' ) n� 2 ! $I � 2* J

� �' M + ! $�� $ �& $ J J $J ' 1 $ $I M +' ) n $J P $I O

R �



� � �
�

� � 	 � �� � � +I ' 2* ! $I O O

� $' - I # 2& $# � $ 1' + ! $I & & J +I ' 2* ! $I ' " ' ) $ 1 $J � $ 1' $� O

1

2

3

4

3

3

3

3

3

2

2

2

2

2

2

2

1

10

i+1

i+2

i+1

i+1

i

i

i

i+1

% ) $ 1 $ 2 1 $ "* # & ' M " K " I I +& # $ !"* 	 P- 1 2' +"* I 2 1" - * J 2 � 2 ! $ �& + K 2 1' +' $* $I I � O

R �



� � �
�

� � 	 � �� � � " ! 2# 1- # $I

� "* I +J $ 1 ' ) $ � "# # " M +* P ' M " # " ! 2# 1- # $I O
1

2

3

4

3

3

3

3

3

2

2

2

2

2

2

2

1

10

i+1

i+2

i+1

i+1

i

i

i

i+1

( K K# & ' ) $I $ 1- # $I ' " 2# # � 2 ! $I O
R �



� � �
�

� � 	 � �� � � " ! 2# 1- # $I

� "* I +J $ 1 ' ) $ � "# # " M +* P ' M " # " ! 2# 1- # $I O
0

1

2

3

4

3

3

3

3

3

2

2

2

2

2

2

2

1

1

i+1

i+2

i+1

i+1

i

i

i

i+1

( K K# & ' ) $I $ 1- # $I ' " 2# # � 2 ! $I O
R �



� � �
�

� � 	 � �� � � " ! 2# 1- # $I

� "* I +J $ 1 ' ) $ � "# # " M +* P ' M " # " ! 2# 1- # $I O
0

1

2

3

4

3

3

3

3

3

2

2

2

2

2

2

2

1

1

i+1

i+2

i+1

i+1

i

i

i

i+1

( K K# & ' ) $I $ 1- # $I ' " 2# # � 2 ! $I O
R )



� � �
�

� � 	 � �� � � " ! 2# 1- # $I

� "* I +J $ 1 ' ) $ � "# # " M +* P ' M " # " ! 2# 1- # $I O
0

1

2

3

4

3

3

3

3

3

2

2

2

2

2

2

2

1

1

i+1

i+2

i+1

i+1

i

i

i

i+1

( K K# & ' ) $I $ 1- # $I ' " 2# # � 2 ! $I O
R �



� � �
�

� � 	 � �� � � " ! 2# 1- # $I

� "* I +J $ 1 ' ) $ � "# # " M +* P ' M " # " ! 2# 1- # $I O
0

1

2

3

4

3

3

3

3

3

2

2

2

2

2

2

2

1

1

i+1

i+2

i+1

i+1

i

i

i

i+1

( K K# & ' ) $I $ 1- # $I ' " 2# # � 2 ! $I O
+ 6



� � �
�

� � 	 � �� � � " ! 2# 1- # $I

� "* I +J $ 1 ' ) $ � "# # " M +* P ' M " # " ! 2# 1- # $I O
0

1

2

3

4

3

3

3

3

2

2

2

2

2

2

2

1

1

3

i+1

i+2

i+1

i+1

i

i

i

i+1

( K K# & ' ) $I $ 1- # $I ' " 2# # � 2 ! $I O
+ R



� � �
�

� � 	 � �� � � " ! 2# 1- # $I

� "* I +J $ 1 ' ) $ � "# # " M +* P ' M " # " ! 2# 1- # $I O
0

1

2

3

4

3

3

3

3

2

2

2

2

2

2

2

1

1

3

i+1

i+2

i+1

i+1

i

i

i

i+1

( K K# & ' ) $I $ 1- # $I ' " 2# # � 2 ! $I O
+ +



� � �
�

� � 	 � �� � � " ! 2# 1- # $I

� "* I +J $ 1 ' ) $ � "# # " M +* P ' M " # " ! 2# 1- # $I O
0

1

2

3

4

3

3

3

3

2

2

2

2

2

2

2

1

1

3

i+1

i+2

i+1

i+1

i

i

i

i+1

( K K# & ' ) $I $ 1- # $I ' " 2# # � 2 ! $I O
+ �



� � �
�

� � 	 � �� � � " ! 2# 1- # $I

� "* I +J $ 1 ' ) $ � "# # " M +* P ' M " # " ! 2# 1- # $I O
1

2

3

4

3

3

3

3

2

2

2

2

2

2

2

1

1

3

i+1

i+2

i+1

i+1

i

i

i

i+1

�� � ��� � � � �� � � ' ) $ $ J P $I K 1" J - ! $J & &# " ! 2# 1- # $I � " 1 � 2 ' 1 $ $ O

+ �



� � �
�

� � 	 � �� � � " ! 2# 1- # $I

�� � ��� � � � �� � � ' ) $ $ J P $I K 1" J - ! $J & &# " ! 2# 1- # $I � " 1 � 2 ' 1 $ $ O

i+1

i+2

i+1

i

i

i+2

i+1

i+1

i

i

i+1

i+1

i+2

i+1

i+1

i

i

i

i+1

% ) $ 1" " ' ! 2* & $ "* # & +* "* $ " � ' ) $ ' M " 1 $ P +"* I J $# + � +' $J & & 2 ! & !# $ O

% 2 N +* P i + 1 � +* + � 2# "* ' ) $ ! & !# $ � 2 !"* ' 1 2 J + !' +"* +I " & ' 2 +* $ J

& $' M $ $* 1- # $I 2* J # 2& $# # +* P & & J +I ' 2* ! $ O

+ �



� � �
�

� � 	 � �� �& 2 ! N � 1" � ' ) $ ' 1 $ $ O

H & !"* I ' 1- !' +"* �# 2& $# I +* ' ) $ ' 1 $ $ J +� $ 1 2' � " I ' & & "* $ 2# "* P $J P $I O

2

1
2
3
4

3
3

3
22

1

22
32

2
3

1

←→
−2

−3
−2
−1
0

−1
−1

−1
−2−2

−3

−2
−1

−3

−2

−2
−1

−2

� K "* ' 1 2* I# 2' +* P 2# # # 2& $# I I " ' ) 2' ' ) $ 1" " ' +I 5 � ' ) $ 1 $I - # ' +* P ' 1 $ $

+I 2* $ �& $ J J $J ' 1 $ $ O

� � � �� �
 �
 � � � % ) $ ,.- 2 J 1 2* P- # 2' +"* ! 2* & $ 1 $ !" � $ 1 $J � 1" � ' ) $ ' 1 $ $

+ �



� � �
�

� � 	 � �� �& 2 ! N � 1" � ' ) $ ' 1 $ $ O

� ' 2 1' +* P � 1" � 2 ' 1 2* I# 2' $J $ �& $J J $J ' 1 $ $ �

2

1

2

3

4
3

3

3

22

1

22
32

2

3

1

Q +I I +* P $J P $I 2 1 $ 1 $ !" � $ 1 $J & & 2 P 1 $ $J & (i→ i− 1) � 2' ! ) +* P

2 1" - * J ' ) $ ' 1 $ $ O

+ �



� � �
�

� � 	 � �� �& 2 ! N � 1" � ' ) $ ' 1 $ $ O

� ' 2 1' +* P � 1" � 2 I ) +� ' $J $ �& $J J $J ' 1 $ $ �

2

1

2

3

4
3

3

3

22

1

22
32

2

3

1

Q +I I +* P $J P $I 2 1 $ 1 $ !" � $ 1 $J & & 2 P 1 $ $J & (i→ i− 1) � 2' ! ) +* P

2 1" - * J ' ) $ ' 1 $ $ O

+ )



� � �
�

� � 	 � �� �& 2 ! N � 1" � ' ) $ ' 1 $ $ O

� ' 2 1' +* P � 1" � 2 I ) +� ' $J $ �& $J J $J ' 1 $ $ �

2

1

2

3

4
3

3

3

22

1

22
32

2

3

1

Q +I I +* P $J P $I 2 1 $ 1 $ !" � $ 1 $J & & 2 P 1 $ $J & (i→ i− 1) � 2' ! ) +* P

2 1" - * J ' ) $ ' 1 $ $ O

+ �



� � �
�

� � 	 � �� �& 2 ! N � 1" � ' ) $ ' 1 $ $ O

� ' 2 1' +* P � 1" � 2 I ) +� ' $J $ �& $J J $J ' 1 $ $ �

2

1

2

3

4
3

3

3

22

1

22
32

2

3

1

Q +I I +* P $J P $I 2 1 $ 1 $ !" � $ 1 $J & & 2 P 1 $ $J & (i→ i− 1) � 2' ! ) +* P

2 1" - * J ' ) $ ' 1 $ $ O

� 6



� � �
�

� � 	 � �� �& 2 ! N � 1" � ' ) $ ' 1 $ $ O

� ' 2 1' +* P � 1" � 2 I ) +� ' $J $ �& $J J $J ' 1 $ $ �

2

1

2

3

4
3

3

3

22

1

22
32

2

3

1

Q +I I +* P $J P $I 2 1 $ 1 $ !" � $ 1 $J & & 2 P 1 $ $J & (i→ i− 1) � 2' ! ) +* P

2 1" - * J ' ) $ ' 1 $ $ O

� R



� � �
�

� � 	 � �� � � "* !# - I +"* O

←→ 2

1
2
3
4

3
3

3
22

1

22
32

2
3

1

% ) $& + L $ !' +"* K 1" � $I |Q•
n| = 2 3n

n+1

(

2n
n

)

, 2* J ' ) - I 2# # " M I ' " 1 $ !" � $ 1

% - ' ' $�� I � " 1 � - # 2 |Qn| = 2
n+2

3n

n+2

(

2n
n

)

.

� $ � " � & � "� 
 "� � � � �� ' � "� �� � � �� � �� � � % � �� &
 � �� �� � � �� & �� �� � 	 �� � 	 � �
 �
 � "� �  � � !(

�� # � � �� &� � � " �� � �� � �� � � � �� �� � � "� � � �� �� �� � " �� �� ' � � � � � �
 � ��� � � � � "  � �( !

� +



� �� �� � � � ���

�� � �� � �	 
� 
 � � � 

 � � 	 �� � � � � 
 �� 
 � 	 � 
�

� �



� � ��� � � � �� �� � � � ��� �� 
	 � � � � � � �

� 
� Rn � 
 � � �� � 
 � � � 	 � � � 
 � � � 	 �

�* 
� � �, 
� �� * � � � Rn = { � �* � * , � � * . , * � �$� �* � 
 � � �� 
�� n �* � � � } �

� � � � � � 
 	 � 	 � � � Xn � � �� � � � � � 	 � �� � � 	 � � � � � � � � � Rn�

Pr(Xn = R) =
1

|Rn|
, � � 	 � 
 
 R ∈ Rn �

�� $ � � ' �� �� � � � �  ! "� # � �%$ � �  � �& " " � "' �( )+* ,- ./ ,0 12 . ,* 3+4 0 , 1 .5 * 6 "'  "

 7 � $ � �� �& � "  " � � " �!  � 8 ' # � �! � " �9 �� � � �: � ;( ( . 6 / 2< 1 .= < ( >4 ,* 14 - 3< 5 - < 12 )@?

AB



� � �� � � � � � � � �� �� � � � �	�

A




� � � �� �� � �� � � �� � � � � �� � � � � � � � �� �� � � �� �� � � � � � � � �� �

� � � � �� � � 	 � � 	 	 
 � 	 � � � 
 � � � � 
 ��	 
 	 
� � �	 �� 	 
 � � 
 � 	 
 � � � � � 
� �


 � � � � � 	 
 
 � � 	 � �� � 	 
�


 � 	 �� �� � � � � � � � � � � � � � � � � 
 	 � 
� �


 � � � � � � 	 � �� � 
� � � � � �


 � � � 	 � � 
 	 � 	 � � � 	 � �


� 
� 
 � � 
� � � � � � � � � 
 	 �� � 
 � � 
 � � � � � � � 
 	 
� � � � � � � � � � � � � � 
 	� � � � �� �


 � � � � � 
 	 	 
� 
� � � � � 
 	 
� � 
 � � � � � � � � �� � 
� � � 	 �� � �� � � � � 	 �� � � 
 � � � � � � �

A�



� �� � � � �� � � � � � �� � � � � � � � 	 � � � � 
 � � � � � � � �� n � � � 
� �

• X
(k)
n � � �� 
 � � � � 
 	 � � � 
 	 � � � 
� � � �� � � �� � 
 k � � � 	 �� � � � � 
 	 � 
�

•�� 
 ��� � �	� 
 � � �� 
� Xn = (X
(1)
n , X

(2)
n , . . . , X

(k)
n , . . .)

• rn� � �� 
 	 � �� � � �� � � � � � 
 �� � � �� � 
 �	 �� �� 
 	 
 � � 
 	 � 
� �


� 	 � 	 � � � � 
 � 	 rn ≤ Dn ≤ 2rn � �� 
 	 
 Dn� � �� 
 �� �� 
� 
 	 �

A�



� �� � � � �� � � � � � �� � � � � � � � 	 � � � � 
 � � � � � � � �� n � � � 
� �

• X
(k)
n � � �� 
 � � � � 
 	 � � � 
 	 � � � 
� � � �� � � �� � 
 k � � �� 
 	 � � � �� � 
 	 � 
 �

•�� 
 ��� � �	� 
 � � �� 
� Xn = (X
(1)
n , X

(2)
n , . . . , X

(k)
n , . . .)

X
(1)
n = 3

• rn� � �� 
 	 � �� � � �� � � � � � 
 �� � � �� � 
 �	 �� �� 
 	 
 � � 
 	 � 
� �


� 	 � 	 � � � � 
 � 	 rn ≤ Dn ≤ 2rn � �� 
 	 
 Dn� � �� 
 �� �� 
� 
 	 �

A�



� �� � � � �� � � � � � �� � � � � � � � 	 � � � � 
 � � � � � � � �� n � � � 
� �

• X
(k)
n � � �� 
 � � � � 
 	 � � � 
 	 � � � 
� � � �� � � �� � 
 k � � �� 
 	 � � � �� � 
 	 � 
 �

•�� 
 ��� � �	� 
 � � �� 
� Xn = (X
(1)
n , X

(2)
n , . . . , X

(k)
n , . . .)

X
(1)
n = 3

X
(2)
n = 8

• rn� � �� 
 	 � �� � � �� � � � � � 
 �� � � �� � 
 �	 �� �� 
 	 
 � � 
 	 � 
� �


� 	 � 	 � � � � 
 � 	 rn ≤ Dn ≤ 2rn � �� 
 	 
 Dn� � �� 
 �� �� 
� 
 	 �

A�



� �� � � � �� � � � � � �� � � � � � � � 	 � � � � 
 � � � � � � � �� n � � � 
� �

• X
(k)
n � � �� 
 � � � � 
 	 � � � 
 	 � � � 
� � � �� � � �� � 
 k � � �� 
 	 � � � �� � 
 	 � 
 �

•�� 
 ��� � �	� 
 � � �� 
� Xn = (X
(1)
n , X

(2)
n , . . . , X

(k)
n , . . .)

X
(1)
n = 3

X
(2)
n = 8

X
(3)
n = 6

• rn� � �� 
 	 � �� � � �� � � � � � 
 �� � � �� � 
 �	 �� �� 
 	 
 � � 
 	 � 
� �


� 	 � 	 � � � � 
 � 	 rn ≤ Dn ≤ 2rn � �� 
 	 
 Dn� � �� 
 �� �� 
� 
 	 �

B �



� �� � � � �� � � � � � �� � � � � � � � 	 � � � � 
 � � � � � � � �� n � � � 
� �

• X
(k)
n � � �� 
 � � � � 
 	 � � � 
 	 � � � 
� � � �� � � �� � 
 k � � �� 
 	 � � � �� � 
 	 � 
 �

•�� 
 ��� � �	� 
 � � �� 
� Xn = (X
(1)
n , X

(2)
n , . . . , X

(k)
n , . . .)

X
(1)
n = 3

X
(2)
n = 8

X
(3)
n = 6

X
(4)
n = 1

rn = 4 �
• rn� � �� 
 	 � �� � � �� � � � � � 
 �� � � �� � 
 �	 �� �� 
 	 
 � � 
 	 � 
� �


� 	 � 	 � � � � 
 � 	 rn ≤ Dn ≤ 2rn � �� 
 	 
 Dn� � �� 
 �� �� 
� 
 	 �

B �



� �� � � � �� � � � � � �� � � � �� 
 � 	 � � �

� � � � 	 � � � � �� n � � � 
� �

√
n×√n � � �� 
 � 
� � �� � � 	 � � �
 
 � 	 �


� 	 � 	 � � � � 
 � 	 �

X
(k)
n = Θ(k) � � 	 k < n1/2 � �� � rn � 	 � � � 
 � � 
 n1/2 �

� � � � � �� 
� 
 	 � 	 �� 
� 
 	 � � 
� � � 
 � � 	 �� � �� � � � � 	 �� � � 
 � � � � � � �

B�



� �� � �� � �� �� � � � � � � � � � � � � �� �

� � � � 	 �� � � � � �� 
 	 	 
 �� � � � � � � 
 �� � � � �

� � � � � 	 � � � � � 	 � � � � � � � � � � � � � 	 �� � � 
 � � � � � � � � �� n � � � 
�

�

� � � � � 	 � �� � � 	 � � � � � � � � � 
� � 
 � � 
 � � 	 
 
� � � �� n 
 � � 
�

� � 	 
 � � 
 	 �� 
 �� � � 	 � � � � � � � � � 
 � � 
 
 � 
 � � �� 
 � 
� � � � 
� �� 
 	 	 �� 
 
�


� 	 � 	 � � � � 
 � 	 � �� 
 	 � � � � � rn = max(k | X(k)
n > 0)� � �� 
 ��	 
 	 
� � 


� 
� � 
 
� �� 
 � � � �� � � � � 
 � � 
 
 � � � � 	 �� � �� 
� � 
 � � 
 � � 	 
 
 �


� 
� 
 � 	 
	 
 
�� 	 � 	 

 	 � �� � � � � � � � � � �� � � 	 � � � � � 	 
� � 
 � � �

B A



� �� � �� � �� �� � � �� �� � � � � � � � � � � � � �� � 
 � 	 � � � 
 
 � � 

 � �

� � � � �� � � � �� � 	 	 �� �� 
� � � � � � � � � 	 � 	 � � � �� 	 
 �� 
 � 	 
 
 � � �� n 
 � � 
�

� � � 
 � � 	 � � � 
 
 � 
 
� �� � Θ(
√

n)

� � � � �� � � � �� � 
� 
 
 � � 
 
 � � 
 � � � � � 	 �� �� � � 	 � � 	 � � � �� � � 
 � � � ��

� � � � � 	 � � � �	 
� 
� � � � � {−1, 0, +1} �
⇒
 � � 

 � � � � 
 
� � �� ` � 	 �� �� � 	 
 Θ(

√
`)

� 
� � 
 � � 	 � � � 
 
 � � 

 � � 	 
 � � � 	 � 
 	 Θ(n1/4) � � � � � � � 	 � � � 
 
 � � 

 � �


� 	 
 �� 
 � � � � 
 � � � 	 
 � � � Θ(n3/4) � 
 	 � � � 
� �


� � 
 	 � � � � 	 �� � �� � � � � 	 �� � � 
 � � � � � � �� � � � 
 � � � �� � � �� 
 � � 	 � � � 


�� � � �� � 
 � 
� � 
 
� � � � 	 � � � �� � 
 	 � � � 
� � � O(n1/4) �

B B



� �� � � � �� � � � � � �� � � 
� � 
 � �

� � �� � � 	 
 	 	 
 �� � 
 	 
� � 
 � � � � 
 
 � � �	 �� �� 
 � � � � � � � 
� � 
 � � 
 � � 	 
 
� �

� � 	 � � � � � � � 
�

�� � � � �� � �� �� � �� � ��� � �� 	 	� � � 
� 
 � � 	 	 
 �� � � � 
 � � � � � k = tn1/4 � �� �


 n−3/4X
(tn1/4)
n


 ��−→X(t) � � 	 	 � � 
� � � � 	 	 � 	 � 
 � � � R
+ �


 �� 
 	 � �� � � � � � � � � 
� E(rn) ∼
n→∞

cte · n1/4 �


 ' � 8 7 � ! � � � $ & � �7 � # �& � X(t) � � " ' �� & " � � 7  " �� �$ 8 �7 � 7 �� & �  & �� ! $ � � � & �

�& "7 �� $ ! �� � # � � � �$ � " � � � �! 7 � � � "' � ! � & " �& $ $ 9 � �9 � " �� �9 � �� � �� "7 � � �?

� $ 7 "' � � 7 �9 � � �  � �� � &  � � �! 7 � 8 " � � & �� " ' �� � � �& " �7 9 � �� � 7 �� & �  &

�&  � � � � $ � " �� � �  � � ?

B 




� � � � � � �� � � � � � �� � � �� 	�� �� 	 �
 �


� � 	 � � � � � � 	 � � 	 �� 
 	 � � � � 
 � � � � �� �
 
 � � 
� 	 � � � � � � 	 	 � �� � � 
 � � 
 	

� � �� 	� � 	� � 	�

� � � �� 
 � �� 
 �� � 
 � �� � 
 � �
 	�
• �� �� �� � � ��� �� � � � � �� � � � �� � � �� � � � � � � � �� � � 	� � � 	 
 	� � �� � � � !

" � � #$ �� 
� � �% �'& ( () �� * + 
, � - 
 
 �� . 
	/ 
� 
	 � � 	 
 4 0

9 �  & �& � � � 7 k � n
1/4

, E(
R k

0
X

(i)
n ) ∼ k4,

� � 7 k � n
1/4

, E(X(k)
n ) � � �� 8 ? � �! 7 �  � �& �


 ' � # '  �  � 7 �  � #1 2 34 56 " ' � � & � # 8 � � � � � � � �!  � �& � " � � � k = tn1/4?

789 :;9 9 <= > ;? @ <? : <A <BC < <? D8E @9 E ? F8G E BH ;? =E ? @ <I A < @ @ < @ B9 < <=J E =G <E @ B ;

IE ? KML 89 BJ <9 9 <= 8G B = N = < <O E 9 :P <9 BRQ O ; P PE @ <ITS UV NXW ; 8 B BH <9 <BE G YS UV N

W ; 8 = D8 <BRQ O <G ; 8 S UZ NO E 9 :P <9 BRQ O H <9 I ;? BS U Z Y
B �



� �� � � � �� �� �� � � � � � �� � �� � �� � � � � � � � � 
� � � � � � � 	 
� 
 � � 	�

n1/4

n1/42

n3/4

k3

0

exp

>>

>>

B �



� � �	� � � � � �� � � ��


� � 	 �� �� � � � � � � �

B �



� � � �� � �� �� � � � � � � � � � � �� �� �


� � �� � 
 
� � 
 � � �� � �� � � 	� � � � � � � � � � � �
 
 � � � � 
 
� �� � � 
 � � 	

� � � � �� � �
 
 
 � 	� � � 
 � 
� � 
 
� � � � � � � �� �� � � 	 � 	 	 �
 
 � � � � � � � �� � 
 � � ��

0
1

2

3

4

3

3

3

3

2

2

2

2

2

2

2

1

1

3



 � �
 � 	 g > 0 � � � �� � �� � � 	 � � �� � � �� � 	 � 
� � � � � � � �
 
 � � 	 � � 	 � � �


� � � 
 � � � 
 � �� � � � � � � � � � � �� � �� � � � � � �� � � � �� � � � �� � � � � � � � �� � � �� �� �

B �



� � � � � � � �� � � � � � � �� � � � �

� � � � 
 � 
� � � � � � 
� � � � � � � � 
 � � � �
 � 	� � �� � � � � � �
 � 	 g �� � � �� � � 	

� � � 	� � � � � � � � � � � � 
 
 � � 
 � � � � �� � � �


� � � 
 � � � � 	� � 
 � 	 
 � 
 � 
 � � � � � 
 � � � � � � �� � � � � � � � �

�� � � � �� � � � � � � 	� � � 	� � 
� � � � �� � �� � � � � �� � 	 � � � � � � 
 � �
 � � 
 � � �
 �


 � � � 
 �� � � � 
 
 �� � � � � �� 
 � � � � 
 � �
 	 � � 
� n �� � � 	 � 
 � � �
 � 	 g �


 � 
 � �� � �� � �� � � � � � � � � � �� � � 
� n � � � � 	 � 
 � � �
 � 	 g�


 �



� � � � � � � �� � � � � � � �� � � � �

� � � �� � �� �
 � �� � � � � � 	 �� 
 � � � � � �� � � 	 �� � 	 � �� � � � 	�


 � �� � � � � � � � � 	� � �� � � � � 
 � � � 	 � � � � � � � � & �


 � �� � � � � �� � � 
 	 � � 	� � � � � � � � 	 � 
 � 
 � �� � � �� � � � � �� 	�


� � � � 	� � 
 � 
 � �� � �� � � � � � �
 � �� � � � � � 	 � � 
� � � � 
 � � � 	 � � � � � � � � ≥ 3�

21

1

2

2

4

3

3

3 4

21

1

2

2

4

3

3
3

4

2 4

3

2

3

4

5

3

2

1

0
1

� � � � �� � � � �� � 
� � 
 � � � � � � � 	 �� �� � 	 � � � �
 � 	 g � 	 � 
 � 
 � �

� � � � �� � � � �� � 
� � � �
 � �� 
 � 
 � �� 
 � 
 � �
 � � �� � �� � �� �
 � �� � � � � � 	

� � � � 
 � � � � � �
 	 �� �� � � 	 � 	� � � � � �� 
 � � 
 � � �� 
 � 
 � �
 � � 
� �

� �
 � �� 
 � 
 � �� 
 � 
 � � 
 � � �� � � � � �� 
 � � � 	�

 �



� � � � � � � �� � � � � � � �� � � � � � 	 � � � 
 � 
 � � �
 � � � �� 
 � � 



 
� � � �� � 
 � 
 
 	 �� �� � 	 � � � �
 � 	 g � 
� � 	 �� � � � � � � 
 � � � 	 
 � � � 	 �

� � � � � � � � � 4g − 2 � � � 
 � � � 	 � � � � � � � � � � 
 � 6g − 3 �� � � 	�


 � 
 �� � �� � �� � � � � � � �
 � 	 g + 1 �� 
 � �� � � � � � �� � � �� � 


�� � �� � �� � � � � � � �
 � 	 g � � �� � � � 
 � �� � � 
 
 	 � � 
� 
� � 	� � � � � � �� �


� � 	 � � �� 
 � 	 � �
 � �� �� � � � ) 
 � � � � � 
 � � � 	 � 
 
� � � �� � 
 � 
 
 	 �� �� � �


 
� � � � � � � Θ(n1/4)� � � �� 	 � 
 � Θ(n3/4)� � � 
 
 	 	� � � � � � � � �
 � � � ��

⇒ 
� � � � � � � Θ(n1/4(n3/4)3) = Θ(n5/2) � � � 	 
 � � 
 � � �� �
 
 
� � � �
 � 	�

� { � � � � � n �� � � 	 � � �
 � 	 g} = n
5

2
g ·#{� � � 
 � � � � � � � n �� � � 	 }�


�



� � � � � � � �� � � � � � � �� � � � � � 	 � � � 
 � 
 � � � � 	� � 
 	

� � � � � � � �
 � � � �� � � � � � � � �� � � 
 � 
 � � � � � � � 
� � � �� � � � � 
 � � � 	� � 
�

�� � � � �� � 	 �
 � � �� � � 
 � �� ��� () � � � 	 � � 
 � �� �
 � � 
 
� � � 
 � � � 	� � 	 �


� � �� � � � � � � � � � � �� 
 � � � � 
 � �
 	 �
 	� � �� � � 	 	� 
 � 	� � 	

#{ � � � � �� 
 � � � � 
 � � 
 	 � � � �
 � 	 g � � 
� n �� � � 	 } = cgn
5

2
(g−1)ρn,

� � � � � ρ = 12�


� � � � �� n
5

2
(g−1)ρn � � 
� � � 	 � � � 
 � 
 � � � � �� � � � � 	 
 �� � �� � � � �� � � � � � 	

� � � � � 	� 
� � � �
 	 
� 
 
 ρ� �� �
 � 	 �
 
� � �� � � � � � � � 
 
� �� �� � 
 �� � � �

� � � � � � 
 � � 
 � 	�� � � � � � 	�� � �� � �
 � � 
� � 	� � � � � 
 � � � � 	� � � � � 
 � �� �

�� � �
 �
 
 � �� � � � � � � � � 
 
� � � �� � � 
 � � 5
2(1− g)�


 A



� � � �� �� � � � �


� �� � � � � � � 	 � � � � �� �� � � �� � 	 
� � � � 	 
 � � � � � � � 	� � � � � 
� � 
 � � 	 
� 
 � � 	

� �� � � 
 � � � �� � � Θ(n1/4)� 
 � � � � �� 
 � � � � 
 � �
 	 � � 
� n �� � � 	 �
 � � �� � �

� �
 � 	 	� � �� � � 	�

� � 
 � � � � 	 
 � �
 	 � �� � � 
 �� �
 � � � � 
 
� � � � �� � 
 � � � � �� 
 � ��

�� � � 
 � � � � � � 	� 

 � � � 
 � � � � � ��

� 
 	 � 
� � 	 	� � � � 
 � 	 �� � �� 
 � � � � � � � 	�� � n� 
 � � � � �� � � � � � � � � � � 
 	

� � 
� � � � �� � � � � �
 � 
� � n1/4�


� � 	 � � � � � � ��� � 	 
 � � 
 � � � 	 
� 
 � � � � 
� � �� � � 
 � � � � � � � � � � � 


� � � 
 
 	 � 
 
� � � �
 
 � 
 � � � � � � � 
 � � � � � 
� � � � � 	 � �� � 
 � � 
� � 
 
� � � � � ��


� � 
 �� �� � � � � � 
� � 	� � � � � �


 B


